(2)

SEC’I‘ION——'I
wue—I

ible for the
: the factors responsi
. Discuss Indian National Congress.

ation of the ia
{(k)fg:t were the British policies towards early

nationalists?

i T FHE A T & T STt FR
Wﬁm,mmﬁﬁ%m%&mmﬁﬁ
g1 FI9C|

2. Trace the course of expansion of Western
and technical education in Bihar between

1857-1947.

1857-1947 & 7 fagn & qrvare Ud qaAiehl RI&T
%M%Wﬁaﬁﬁgﬂﬁﬁﬂm

3, )Critically analyze the factors responsible for

thc. €mergence of Gandhiji as an eminent
nationalist leader., 38

O A W T % e it 3 vew H R
ST FH A ST fydm AR

4. Write an eg
of 1943,

38

38

s )
a:}t on the Quit India Movement
it a Spontaneous movement? 38

1942 ¥ g -
“Bmmmmi?%‘“@ﬁmﬁrmlw
mmmaﬂ?\m on?
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@ ‘Agnipath’ is a path towards development or :
destruction? Comment. 8

‘m’mawﬁwmﬁaﬁww%?ﬁwﬁ
S

9. Discuss the concept of ‘One Nation One
Election’ in Indian context and give your

arguments for and against it.

yidg v 8, ‘tF g uE fafed’ f sEumen i
quiT IR 9T 369 e 3R fue # o 7 i)

38

o

LIB/.' What is the root cause of war between Russia
and Ukraine? Discuss its impact upon the
nations of the world with special reference to

India. - 38
9 IR YHA & WA Y F YA SR 1 27 N F
foim w=d & fov@ & W @ @ v 1 9ol
it

11. It is generally alleged that ruling party
misuses the Constitutional Institutions for
its vested interests, Do yoy agree with this

view? Give arguments in Support of your
answer, 4 38
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(c) If Maharaja is one of the companies
included in ‘others’ and its sale
constitutes 40% of ‘others’, then how
many toasters of Maharaja were sold in
2013-20147?

(d) Assuming that the number of toasters
sold increases at the same rate in
2014-2015 as it did from 2012-2013 to
2013-2014, and assuming further that
TVS maintains its market share, what
will be the number of units sold by TVS

in 2014-2015?

(e) If in 2013-2014 IFB sold 7000 more
units and effected the market share of
other companies, then what would be
its market share (in %)? 4+8+6+8+10=36

R Ry o guie w1 e s Hifv ot i
mm’i%m?ﬁﬁq :
2 1 fasht 2013-2014 T FT9R B fGR4TRT

2010-2011
(200000)

2013-2014
(350000)

2011-2012
(250000)

ONIDA
39-6°
IFB 36° \

"'

VS 182

20122013
(300000)

Videocon

49/FG/CC/M"2022-02/ 105A ( Continued )
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the ratio of the sum of targeted
ction for the years 2002-2003,
I23005—2006 and 2006-2007 to the sum
of the actual production for these years.

fFind

(d

) Find the difference between t:.:lrgetec.l_\
€ production and actual production for

the years 2002-2003 and 2005-2006
taken together. 6+8+8+8+6=36

i T F A sorm e o A g T
Eﬁﬁ1€5'3ﬁt'€ﬁ%ﬂ{ -
ﬁwﬁam@ﬁﬁa?ﬁaﬂa&wamamﬁiﬂ
3are (’000 H)
—o— & IAEA
300 - Frediaeh STe

231
7T 240- -
Q 220-
o)
© 2001 ‘o
E 180-
160
1407 144
120 125
100 +— T T T a T T T T T T |
2001-02 2002-03 2003-04 2004-05 2005-06 2006-07
ayf
(%) 20042005 A 2005-2006 # @it Ieare 3
fran wfdea uftadd gan 7
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€) Write short notes on any 19x2=38

following :
{a) Santhal Uprising
(b)) Champaran Satyagraha

(c) Rabindranath Tagore’s Contribution to
the Freedom Movement

P frefafas § ¥ Rl @ w afim fewfimt fafag
Y e e
/{)wm

(1) A SR F S ke § eE

SECTION—II
Qug—II

@ Discuss the origin, membership, develop-

ment and objectives of ‘QUAD’, What is its
significance for India?

49/FG/CC/M-2022-02/10=A
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awm%mﬁmﬁﬁwmﬂmﬂr
e srafy # seam oan? 'W°9:9 \w?"
96 f gem, R araes Iaed o
Tdfas 3T @ A o1, 3R I au] -
e, o awfes Same ofaa s

I W FH A, F I HT 27

T 2002-2003, 2005-2006 M

2006-2007 % fou @féra I ¥ A =5
WA T W & anafed IO F Q@
eI

¥ 2002-2003 ik 2005-2006 H T
NGNS R [ o Sp—. % 19 &1
frefem

llow :
Per Capitq Income (in ¥)

T 4933

1630

238 328 674
" 1957

1961 197

O rve.

1981 1997
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SECTION—III
@us—III

12. Study the following table carefully and
answer the questions given below :

Percentage marks obtained by seven students

in six different subjects
Subject
A B C D N ¥
(Out of | (Outof | (Outof | (Outof | (Out of | (Outof

75) | 150 | 100) | 50) | 150) | 75)

p 85 68 76 92 89 82
0 78 72 84 80 64 70
R 66 75 79 88 72 66
S 74 62 91 74 70 74
T 90 75 67 68 69 78
174 86 80 69 78 82 80
W 82 68 81 85 76 72

(a) Find the total percentage marks secured
by R in all the six subjects together,

(b) Find the difference between the marks
obtained by P in the subjects B, D and E
together and the marks obtained by T in
the same subjects,

49/FG/CC/M-2022-02/108A ( Turn O/
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(c) Find the average marks obtained by all
the students in the subject B.

(d) Find the average percent of .marks
obtained by all the students in the

subjects C and D together.

(e) What is the total marks obtained by all

the students in subject F?
6+10+6+10+4=36

fi R o s ser fif o i fag T
Tel & I AR i
a1 o1 g1 8: v faal 4 3m siet 1 glawid

fawg
sA| A B C D E F
(75%8) |(150%8)|(100%8)| (507 %) (1507 8)| (755 &)
P 85 68 76 92 89 82
Q 78 72 84 80 64 70
R 66 75 79 88 72 66
S 74 62 91 | 74 70 74
T| 90 75 67 68 69 78
v| 86 80 69 78 82 80
w 82 68 81 85 76 72
(%) Rz wm of o Rdl 1 w-wy 5o oiw
e g ifd

(@) % B, D3 B ww-ma P W s @

M3 forat . .
&y AT & ww St i Si
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(1) ﬁwBﬁmﬁm‘immaﬁaﬁeﬁm

(5) =it ort g P T8 $ 3 T AT

13. Study the following pie-charts carefully and

answer the questions given below :
Market share in 2013-2014

ONIDAVE
39-6°)\ |Others
‘ 8.40
IFB 36°™\ '

(

180°
Videocon

Sales of toasters

2010-2011
(200000)

2013-2014
(350000)

2011-2012
(250000)

2012-2013
(300000)

(a) Assuming that Videocon has
maintained its market share at the
same level from 2010-2011, what is the
total number of toasters sold by
Videocon in these four years?

(b) 1f in 2012-2013 the market share of
BPL was 7%, then what is the change in
the number of toasters sold by BPL from
2012-2013 to 2013-20147?

49/FG/CC/M-2022-02/105A ¢ Tuurn Ovr)

Scanned with CamScanner



(9)

= T ¢ 6 difSlEE 3 2010-2011
st TR RREd sl W W Y W,
SHRAFA T IR W § 99 7Y el A
Fol WE R

(%)

(@) 3R 2012-2013 & BPL #i IR = 7%
ff, @ 2012-2013 ¥ 2013-2014 & BPL
T a4 WA 9 I Al wem 7 e aiEda
Bl 27

(M 3R ‘I § mite FafE d Y geren’ oft
2 3f sEdht Toshl 3’ &1 40% TreE Ft 3,
@ 2013-2014 ¥ ‘Teren’ & fFad drex 2=
!

2014-2015 ¥ 3t R A =@t ¥ A 9
2012-2013 & 2013-2014 % H o, aix
aa @ 7e Nl 7 g B TVS X et s
femgarll = whl R, W 2014-2015 #§ TVS
Zr@ 44 TS TR ) w@n | e

() af 2013-2014 # IFB A 7000 ) el
mﬁafm,?ﬁmwﬂaun (% )
am?
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(a)

(b)

(d)

(e)

49/FG/CcC/M-2022-02/105A

(13 )

National Income (in ¥ ’00 crore)

4726
1224
o0 152 37
s NESFENSH e NS . : .
1951 1961 1971 1981 1991

Years

What is the growth percentage in Per
Capita Income’ from 1951 to 1991?

What is the annual growth rate of ‘Per
Capita Income’ from 1961 to 1971

(assuming that the growth was uniform
throughout)?

Find the country’s population during
1981.

What was the growth rate in population
during the decade 1981-1991?

By how much percent the ‘National
Income’ grew from 1951 to 1991?

6+8+8+8+6=36

( Turn over )
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%) 1961 % 1971 4 ‘sf b 9@ A 4
78 T Tt (e e gu T OE @ I
1% Th-gam «ff)?

1981 % 2 g 1 SFEEN T@ R
3 dm sAaen 7 i

(n)

'q
) 1981-1991

47



( 10 )

h carefully and

the following grap

: ow
14. Study uestions given bel
answer the q Its (m '000)
duction Of bo
d actual pro
Target an
in a factory
—e— Target productl.on 284 295
307 @~ Actual production  ®
280 !
5 2607
S 2404
= 220
= 200
;§ 180 -
5 160-
O
& 1401
120 125 - :
. 200102 200203 2003-04 2004-0 2005-06 2006-07
Years

(@) What is the percentage change in the
targeted production from 2004-2005 to
2005-20067?

(b) In which period was the percentage of
actual production with respect to target
production the highest?

(c) What is the ratio of the number of years
l:b which the actual production was

:Ve the average actual pProduction to
mmfber of years in which the actual
Production was below the
actual Productignp average
49/FG/CC/M-2022—02/105A
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3 T
-&q1n1aﬁfésﬁaq1%nﬂIn{dhxﬁaiaﬁ%iGﬂﬂ .
s e <2 @l g gué T ¥ 42 @l @ Had

o ¢ AR Ry ol F 3w AT
vid fek 31 (¥ ¥)
4933
T
1630
t 674
328
l2_—138 + r_-l + + + —i
1951 1961 1971 1981 1991
c1
TEH 377 (€ '00 3 )
4726
1224
' 397
152
JLr?_g. — .
1951 1961 197y ' 1981 1997 |
(%) 195 3 1991 T Uy st e .
wfiera I
- TR T 4y kL
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